Nr.

at.| S D, I’ Dy df
1 | ¢ (const.) R 0 R 0
2 | 1", nelN R n-x" R - x"dx
3 [+ aeR (0. +o0) o-x* (0, +00) o - x'dx
' 1 : 1
4 | x [0, +o00) (0, +o0) - dv
2x 2x
5| a’, R a*lna R a*Inady
a>0,a#l
6 | & R e’ R e"dx
7 llogﬂx: (0. +0) Tna (0, +o0) " ]_Ilﬂ'dl
a>0 a#l
8 | Inx (0. +00) % (0. +o0) %dt
9 | sinx R cosx R cosxdx
10 | cosx R —sinx R —sinxdx
11 | tgx R\{{Zk+1)£|ke z} 12 R\{(ﬂcﬂ)ﬁme z} 12 dx
2 cos 2 cos X
12 | ctgx R\{kr |keZ} | - ,12 R\{kr |ke Z} - _12 dx
sin X SI°X
: : 1 : 1
13 | arcsinx -1.1 -1.1 dx
1.1 1-x° L1 Vv1—27
14 | arccosx [-1.1] - (—1L1) - dx
1-x° _"J]—Jv;2
: 1 ' 1
ctgy R
15 | arctgx R T2 = dx
' 1 ' |
16 tgx R - R - dx
meeEr 1+27 T+




